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<H2-16> FYSotz| X|ATE(16'd 7|E)
(EH : 7H, %, 2THR, m)
X=X S UK H 2 A
N E NEER NECE] NEEE
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]| H|= ~ = © | Hi HI= =~ © el
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MECHst | 1,055 | 83.3 | 1,991.7 1.9 787 62.2 20,399.0 259 1,131| 89.3
oA 4,363 | 79.8 | 9,302.3 2.1 3,032 | 554 | 130,444.9 43.0 4,737 | 86.6
* 2Ale AFo S E T StLiEtE X[REE2 oF
* BOFE X[ANE S 4 HE2 ©H HYEsot2| s~ 4,20270, ©2CHEE 1,2667H, TA|

54687l) tid| HIS
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M %
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= N MHX} ) a5 A | TEX e
- & | MERE — + | $Ax
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I Xt
= X
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FH A AL A XL EHOI AL X} H A
T 2
Hl H & Hl = H & Hl = H &
wkeigm] 852 87.1 126 12.9 978 100.0
MECNg 209 98.1 4 19 213 100.0
M A 1,061 89.1 130 10.9 1,191 100.0
o ZPFolE] &F FHol Jde A FA7NHL 654% (7797)
<H2-29> SHUEA7|Y HYUSOoZ| 2#SEH oE(164d 7|F)
(Bt - 70, %)
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o M A7 A&EI) = o] FAIB40.1%), AT T E A E(35.8%),
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